
 

LESSON – 1 
1. sMiKAwvW 15 , 12 Aqy 21 dw AwBwj guxnKMf ivDI nwl  H.C.F Aqy L.C.M. pqw kro [    (2015) 
2. sMiKAwvW 12 , 15 Aqy 21 dw AwBwj guxnKMf ivDI nwl  H.C.F Aqy L.C.M. pqw kro [    (2015) 
3. sMiKAwvW 21 , 15 Aqy 12 dw AwBwj guxnKMf ivDI nwl  H.C.F Aqy L.C.M. pqw kro [    (2015) 
4. jykr  𝐻𝐶𝐹   315 , 657  = 9 hY qW 𝐿𝐶𝑀   315 , 657   pqw kro [      (2016) 
5. jykr  𝐻𝐶𝐹   315 , 666  = 9 hY qW 𝐿𝐶𝑀   315 , 666   pqw kro [      (2016) 
6. jykr  𝐻𝐶𝐹   306 , 657  = 9 hY qW 𝐿𝐶𝑀   306 , 657   pqw kro [      (2016) 
7. sMiKAwvW 6 Aqy 20 dw AwBwj guxnKMf ivDI nwl  H.C.F Aqy L.C.M. pqw kro [    (2017) 
8. jykr sMiKAwvW 306 Aqy 657 dw H.C.F  9 hY qW jykr sMiKAwvW 306 Aqy 657 dw L.C.M. pqw kro [  (2017) 
9. sMiKAwvW 26 Aqy 91 dw  H.C.F Aqy L.C.M. pqw kro [        (2017) 
10. 3570 nUM AwBwj guxnKMfW dy guxn&lW dy rUp iv`c ilKo [       (2017 J) 

11. 3825 nUM AwBwj guxnKMfW dy guxn&lW dy rUp iv`c ilKo [       (2017 J) 
12. 3927 nUM AwBwj guxnKMfW dy guxn&lW dy rUp iv`c ilKo [       (2017 J) 

13. hr ie`k Bwj sMiKAW nUM ABwj sMiKAw dy guxn&l dy rUp ivc̀ drswieAw  jw skdw hY[    (shI / glq)          (2018) 

14. 420 Aqy 130 dw m.s.v. (H.C.F) Xukilf vMf AYlgoirQm dw pRXog krky pqw kro [                                (2018) 

15. 5005 nUM AwBwj guxnKMfW dy guxn&lW dy rUp iv`c ilKo [        (2019) 

LESSON – 2 
1. 2𝑥2 + 7𝑥 − 1 nUM 𝑥 + 4 nwl Bwg kro [         (2015) 
2. 2𝑥2 + 9𝑥 − 2 nUM 𝑥 + 5 nwl Bwg kro [         (2015) 
3. 2𝑥2 + 3𝑥 + 1 nUM 𝑥 + 2 nwl Bwg kro [         (2015) 
4. ie`k do GwqI bhupd pqw kro ijsdy is&rW dw joV Aqy guxn&l kRmvwr −3 Aqy 2 hY [    (2016) 
5. ie`k do GwqI bhupd pqw kro ijsdy is&rW dw joV Aqy guxn&l kRmvwr 2 Aqy −3 hY [    (2016) 
6. ie`k do GwqI bhupd pqw kro ijsdy is&rW dw joV Aqy guxn&l kRmvwr 1 Aqy 4 hY [    (2016) 
7. dUsrI bhupd nUM pihlI bhupd nwl Bwg krky pqw kro ik kI  pihlI bhupd , dUsrI bhupd dw guxnKMf hY jW nhIN   
 𝑡2 − 3     ,   2𝑡4 − 2𝑡2 − 9𝑡 − 12         (2017) 
8. bhupd 𝑝 𝑥 = 𝑥4 − 5𝑥 + 6 nUM 𝑔 𝑥 =  −𝑥2 + 2 nwl Bwg krky Bwg&l Aqy bwkI pqw kro [   (2017) 
9. do GwqI bhupd 4𝑥2 + 8𝑥 dy is&r pqw kro [                (2017) 
10. bhupd 𝑝 𝑥 = 𝑥3 − 3𝑥2 + 5𝑥 − 5 nUM 𝑔 𝑥 =  𝑥2 − 2 nwl Bwg kro [     (2017J, 2018) 
11. Gwq …………… dy bhupd nUM ryKI bhupd kihMdy hn [    (KwlI sQwn Bro)                                   (2018)  
12.do GwqI bhupd 3𝑥2 − 𝑥 − 4 dy is&r pqw kro Aqy is*rW Aqy guxWkw dy iv`ckwr sMbMDW dI s`cweI dI jWc kro[  (2019) 

LESSON-3 
1. hyTW id~qy smIkrx joVy dy swry sMBv h`l pqw kro :    5𝑥 + 6𝑦 = 16 Aqy 2𝑥 − 2𝑦 = 2           (2015) 
2. hyTW id~qy smIkrx joVy dy swry sMBv h`l pqw kro :    3𝑥 + 4𝑦 = 10 Aqy 2𝑥 − 2𝑦 = 2   (2015) 
3. hyTW id~qy smIkrx joVy dy swry sMBv h`l pqw kro :    4𝑥 + 5𝑦 = 13 Aqy 2𝑥 − 2𝑦 = 2   (2015) 

2016 
4. 5 sMqry Aqy 3 sybW  dw mu`l 35 rupey hY , 2 sMqry Aqy 4 sybW  dw mu`l 28 rupey hY , 1 sMqry Aqy 1 syb  dw mu`l pqw kro[ 
5. 2 sMqry Aqy 3 sybW  dw mu`l 46 rupey hY , 3 sMqry Aqy 5 sybW  dw mu`l 74 rupey hY , 1 sMqry Aqy 1 syb  dw mu`l pqw kro[ 
6. 5 sMqry Aqy 7 sybW  dw mu`l 50 rupey hY , 7 sMqry Aqy 5 sybW  dw mu`l 46 rupey hY , 1 sMqry Aqy 1 syb  dw mu`l pqw kro[ 
7. ryKI smIkrx joVy 5𝑥 − 𝑦 = 2 Aqy 𝑥 − 𝑦 = −2 dw AwlyKI ivDI nwl h`l kro [  
8. ryKI smIkrx joVy 2𝑥 − 𝑦 = 5 Aqy 2𝑥 + 𝑦 = −1 dw AwlyKI ivDI nwl h`l kro [ 
9. ryKI smIkrx joVy 2𝑥 + 𝑦 = 5 Aqy 3𝑥 − 𝑦 = 5 dw AwlyKI ivDI nwl h`l kro [ 
10. ryKI smIkrx joVy 2𝑥 − 𝑦 = 8 Aqy 3𝑥 + 𝑦 = 2 ivc̀ 𝑥 dw mu`l pqw kro [ 
11. ryKI smIkrx joVy 3𝑥 + 𝑦 = 4 Aqy 2𝑥 − 𝑦 = 6 ivc̀ 𝑥 dw mu`l pqw kro [ 

12. ryKI smIkrx joVy 3𝑥 − 2𝑦 = 5 Aqy 𝑥 + 2𝑦 = 3 ivc̀ 𝑥 dw mu`l pqw kro [ 
2017 

13. ie`k pYNnisl Aqy 3 rbVW dw mu`l 10 rupey hY , 4 pYNnislW Aqy 6 rbVW dw mu`l 28 rupey hY , 5 pYNnislW Aqy 4 rbVW dw 
mu`l 10 pqw kro [                                                                               

14. ie`k iBMn dy isr& AMs iv`coN 1 Gtwaux nwl auh 1

3
 ho jWdI hY Aqy hr ivc̀ 8 joVn nwl auh 1

4
 ho jWdI hY [iBMn pqw kro [                                                                                                



 
15. hyTW id~qy ryKI smIkrx joVy nUM iqrCI guxw ivDI nwl h`l kro :    8𝑥 + 5𝑦 = 9 Aqy 3𝑥 + 2𝑦 = 4                                                           
16. 𝒑 dy ikhVy mu`lW nwl hyTW id~qy ryKI smIkrx joVy dw ie`k ivl`Kx h`l hY ?4𝑥 + 𝑝𝑦 + 8 = 0 Aqy 2𝑥 + 2𝑦 + 2 = 0 
17. 𝒌 dy ikhVy mu`lW nwl hyTW id~qy ryKI smIkrx joVy dw ie`k ivl`Kx h`l hY ? 2𝑘𝑥 + 3𝑦 + 3 = 0 Aqy 4𝑥 + 𝑦 + 4 = 0 
18. 𝒑 dy ikhVy mu`lW nwl hyTW id~qy ryKI smIkrx joVy dw ie`k ivl`Kx h`l hY ? 4𝑥 + 2𝑦 + 1 = 0 Aqy 3𝑝𝑥 − 3𝑦 + 4 = 0 
19. ryKI smIkrx joVw 2𝑥 + 3𝑦 = 11 Aqy 2𝑥 − 4𝑦 = −24 nUM h`l kro [                                   (2018) 

20. jykr iksy iBMn dy isr& AMS Aqy hr dohW iv`c 2 joV id`qw jwvy qW ieh  9

11
 ho jWdI hY[jykr  iBMn dy isr& AMS Aqy hr 

dohW ivc̀ 3 joV id`qw jwvy qW ieh  5

6
 ho jWdI hY iBMn pqw kro [                                  (2018) 

21. smIkrxW 𝑥 − 𝑦 + 1 = 0  Aqy 3𝑥 + 2𝑦 − 12 = 0 dw gRw& iK`co [ 𝑥 −Dury Aqy iehnW ryKwvW nwl bxy iqRBuj dy isKrW dy 
inrdyS AMk pqw kro Aqy iqRBuj Awkwr nUM CwieAw AMikq kro [                                  (2018) 

22. ikRkt tIm dy ie`k koc ny 3900 rupey ivc̀ 3 b`ly Aqy 6 gyNdw KrIdIAW[ bwAd iv`c ausny ie`k hor b`lw Aqy ausy qrW 
dIAW 3 gyNdw 1300 rupey ivc̀ KrIdIAW [ies siQqI nUM bIjgixiqk rUp iv`c ivAkq kro [    (2019) 

23. pVqwl kro ik smIkrxW dw joVw 𝑥 + 3𝑦 = 6 Aqy 2𝑥 − 3𝑦 = 12 sMgq hY jW AsMgq hY [jykr sMgq hY qW gRW& ivDI 
rWhI h`l kro [             (2019) 
24. 2 iesqrIAW Aqy 5 AwdmI ie`k ksIdy dy kMm nUM iek`Ty 4 idn iv`c pUrw kr skdy hn jdik 3 iesqrIAW Aqy 6 AwdmI 
iesnMU 3 idn ivc̀ pUrw kr skdy hn [ pqw kro ik ies kMm nUM ie`k iek`lI iesqrI ikMny smyN ivc̀ pUrw krygI ? ies kMm nUM 
ie`k iek`lw AwdmI ikMny smyN iv`c pUrw krygw ?          (2019) 

LESSON-4 
1. do GwqI smIkrx 9𝑥2 − 3𝑥 − 2 = 0 dy mUl  pqw kro [                                                     (2015) 
2. do GwqI smIkrx 6𝑥2 − 𝑥 − 2 = 0 dy mUl  pqw kro [                                                      (2015) 
3. do GwqI smIkrx 6𝑥2 + 𝑥 − 2 = 0 dy mUl  pqw kro [                                                 (2015) 
4. do GwqI smIkrx 2𝑥2 − 7𝑥 + 3 = 0 dy mUl , jykr sMBv hox qW pqw kro [                             (2016) 
5. do GwqI smIkrx 3𝑥2 − 5𝑥 + 2 = 0 dy mUl , jykr sMBv hox qW pqw kro [                                  (2016) 
6. do GwqI smIkrx 2𝑥2 − 3𝑥 − 5 = 0 dy mUl , jykr sMBv hox qW pqw kro [                                     (2016) 
7. do lgwqwr tWk Dnwqmk sMpUrn sMiKAwvW pqw kro ijMnHW dy vrgW dw joV 290 hovy [                             (2016) 
8. do lgwqwr tWk Dnwqmk sMpUrn sMiKAwvW pqw kro ijMnHW dy vrgW dw joV 202 hovy [                          (2016) 
9. do lgwqwr tWk Dnwqmk sMpUrn sMiKAwvW pqw kro ijMnHW dy vrgW dw joV 130 hovy [                             (2016) 
10. do GwqI smIkrx  𝑘𝑥2 − 2𝑘𝑥 + 6 = 0 iv`c 𝑘 dw Aijhw mu`l pqw kro ik ausdy do brwbr mUl hox [          (2017) 
11. do GwqI smIkrx  𝑝𝑥2 − 3𝑥 + 5 = 0 iv`c 𝑝 dw Aijhw mu`l pqw kro ik ausdy do brwbr mUl hox [           (2017) 
12. do GwqI smIkrx  2𝑥2 − 6𝑥 + 3 = 0 dy mUlW dI pRikrqI pqw kro [                                          (2017) 
13. do GwqI smIkrx  2𝑥2 − 6𝑥 + 3 = 0 dy mUlW dw ifsikRmInYNt Aqy mUlW dI pRikrqI pqw kro [                 (2018) 
14. jWc kro ik 𝑥 2𝑥 + 3 =  𝑥2 + 1  do GwqI smIkrx hY jW nhIN [             (2019) 

15. 3 swl pihlW rihmwn dI aumr(swlW ivc̀) Aqy hux qoN 5 swl bwd dI aumr dy aultkRmW dw joV 1

3
 hY[ausdI vrqmwn 

aumr pqw kro[                          (2019) 

LESSON – 5 
1 AMk vwly pRSn :- 
1. AMk gixiqk lVI (A. P)  3 , 1 ,  -1 , -3 ,…………… dw sWJw AMqr ilKo [    (2015) 
2. AMk gixiqk lVI (A. P)  4 , 2 ,  0 , -2 ,…………… dw sWJw AMqr ilKo [            (2015) 
3. AMk gixiqk lVI (A. P)  2 , 0 ,  -2 , -4 ,…………… dw sWJw AMqr ilKo [    (2015) 
4. id`qI hoeI (A. P) dy pihly  cwr pd ilKo jdoN ik pihlw pd (a) = 4 Aqy sWJw AMqr(d) = 3 hY [          (2016) 
5. id`qI hoeI (A. P) dy pihly  cwr pd ilKo jdoN ik pihlw pd (a) = -2 Aqy sWJw AMqr(d) = 0 hY [  (2016) 
6. id`qI hoeI (A. P) dy pihly  cwr pd ilKo jdoN ik pihlw pd (a) = 3 Aqy sWJw AMqr(d) = 2 hY [          (2016) 
7. A. P 
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2
……………… .. dy leI pihlw pd (a) Aqy sWJw AMqr(d) ilKo [    (2017) 

8. A. P 6 , 9 , 12 , 15,……………… .. dy leI pihlw pd (a) Aqy sWJw AMqr(d) ilKo [    (2017) 
9. A. P −5 , −1 , 3 , 7 , ……………… .. dy leI pihlw pd (a) Aqy sWJw AMqr(d) ilKo [             (2017,2018) 
10. kI lVI 𝑎 , 2𝑎 , 3𝑎 , 4𝑎,…………… A. P hY ? jykr hY qW sWJw AMqr pqw kro [         (2017 J) 



 
11. kI lVI  3𝑎 , 4𝑎, 5𝑎, 6𝑎 …………… A. P hY ? jykr hY qW sWJw AMqr pqw kro [         (2017 J) 
12. kI lVI 2𝑎 , 3𝑎 , 4𝑎 , 5𝑎,…………… A. P hY ? jykr hY qW sWJw AMqr pqw kro [         (2017 J) 
13. id`qI hoeI (A. P) dy pihly  cwr pd ilKo jdoN ik pihlw pd (a) = 4 Aqy sWJw AMqr(d) = -3 hY [  (2019) 
4 AMk vwly pRSn :- 
1. AMk gixiqk lVI (A. P)  3 , 8 , 13 , 18 ,…………… dw ikMnvW pd 78 hY ?    (2015) 
2. AMk gixiqk lVI (A. P)  2 , 7 , 12 , 17 ,…………… dw ikMnvW pd 77 hY ?    (2015) 
3. AMk gixiqk lVI (A. P)  4 , 9 , 14 , 19 ,…………… dw ikMnvW pd 79 hY ?    (2015) 
4. AMk gixiqk lVI (A. P)  7 , 2 , -3 , ………… dy pihly 22 pdW dw joV&l pqw kro [   (2015) 
5. AMk gixiqk lVI (A. P)  9 , 4 , -1 , ………… dy pihly 22 pdW dw joV&l pqw kro [   (2015) 
6. AMk gixiqk lVI (A. P)  8 , 3 , -2 , ………… dy pihly 22 pdW dw joV&l pqw kro [   (2015) 
7.  8 dy pihly 15 guxjW dw joV&l pqw kro [         (2016) 
8.  9 dy pihly 15 guxjW dw joV&l pqw kro [         (2016) 
9.  7 dy pihly 15 guxjW dw joV&l pqw kro [         (2016) 
10. aus A. P dw 31vW pd pqw kro ijsdw 11vW pd 38 Aqy 16vW pd 73 hY [     (2016) 
11. aus A. P dw 33vW pd pqw kro ijsdw 11vW pd 38 Aqy 16vW pd 73 hY [     (2016) 
12. aus A. P dw 29vW pd pqw kro ijsdw 11vW pd 38 Aqy 16vW pd 73 hY [     (2016) 
13. AMk gixiqk lVI (A. P) 7 , 11 , 15 , 19 ………… dy pihly 15 pdW dw joV&l pqw kro [   (2017)  
14. A. P  11 , 8 , 5 , 2 ……………… dw ikMnvW pd -151 hY ?       (2017)  
15. A. P  21 , 18 , 15 ,……………… dw ikMnvW pd -27 hY ?        (2017)  
16. A. P  -37 , -33 , -29 , ………… dy pihly 12 pdW dw joV&l pqw kro [     (2017)  
17. A. P  −5 +  −8 +  −11 + …………… . . +(−230) iv`c pihly 76 pdW dw joV&l pqw kro [  (2017)  
18. idKwE ik 𝑎1 , 𝑎2 , 𝑎3 , ………………𝑎𝑛 qoN ie`k  A. P bxdI hY jykr 𝑎𝑛 = 3 + 4n hovy [    (2017)  
19. A. P: 24 , 21 , 18 ,……………… dy pihly 12 pdW dw joV&l pqw kro [           (2017 J)  
20. A. P: 24 , 21 , 18 ,……………… dy pihly 10 pdW dw joV&l pqw kro [           (2017 J)  
21. A. P: 24 , 21 , 18 ,……………… dy pihly 14 pdW dw joV&l pqw kro [           (2017 J) 
22. AMk gixiqk lVI 7 , 13 , 19 ,……………199 iv`c ikMny pd hn ?            (2017 J) 
23. AMk gixiqk lVI 7 , 13 , 19 ,……………211 iv`c ikMny pd hn ?            (2017 J) 
24. AMk gixiqk lVI 7 , 13 , 19 ,……………205 iv`c ikMny pd hn ?                   (2017 J) 
25. ie`k A.P iv`c 50 pd hn , ijsdw qIsrw pd 12 hY Aqy AMiqm pd 106 hY [ iesdw 29vW pd pqw kro [      (2018) 
26.   636 joV pRwpq krn leI 𝐴. 𝑃.  9, 17 , 25,.................. dy ikMny pd lYxy cwhIdy hn?    (2019) 

LESSON – 6 
2015 

1 𝐴𝐵𝐶 ie`k smdoBujI iqRBuj hY ijsdw kox 𝐶 smkox hY [isD̀ kro ik 𝐴𝐵2 = 2𝐴𝐶2  hY [            

2. 𝐴𝐵𝐶 ie`k smdoBujI iqRBuj hY ijsdw kox 𝐴 smkox hY [is`D kro ik 𝐵𝐶2 = 2𝐴𝐵2  hY [            

3. 𝐴𝐵𝐶 ie`k smdoBujI iqRBuj hY ijsdw kox 𝐵 smkox hY [is`D kro ik 𝐴𝐶2 = 2𝐵𝐶2  hY [    
4.    10 mItr lMbI ie`k pOVI ie`k kMD nwl lgwaux qy zmIn nwloN 8 mItr dI au~cweI qy siQq ie`k iKVkI q`k phuMcdI hY [ 
kMD dy AwDwr qoN pOVI dy hyTly isry dI dUrI pqw kro [         
5.     5 mItr lMbI iek̀ pOVI ie`k kMD nwl lgwaux qy zmIn nwloN 4 mItr dI au~cweI qy siQq ie`k iKVkI q`k phuMcdI hY [ 
kMD dy AwDwr qoN pOVI dy hyTly isry dI dUrI pqw kro [         

6.   15 mItr lMbI ie`k pOVI ie`k kMD nwl lgwaux qy zmIn nwloN 12 mItr dI au~cweI qy siQq ie`k iKVkI q`k phuMcdI hY [ 
kMD dy AwDwr qoN pOVI dy hyTly isry dI dUrI pqw kro [         

2016 
7. mMn lE ∆𝐴𝐵𝐶 ~ ∆𝐷𝐸𝐹 hY Aqy ieMnHW dy Kyqr&l kRmvwr 64 𝑐𝑚2 Aqy 121 𝑐𝑚2 hn [ jykr 𝐸𝐹 = 15.4 𝑐𝑚 hovy qW 𝐵𝐶 
pqw kro [          
8. mMn lE ∆𝐴𝐵𝐶 ~ ∆𝐷𝐸𝐹 hY Aqy ieMnHW dy Kyqr&l kRmvwr 64 𝑐𝑚2 Aqy 121 𝑐𝑚2 hn [ jykr 𝐸𝐹 = 13.2 𝑐𝑚 hovy qW 𝐵𝐶 
pqw kro [          
9. mMn lE ∆𝐴𝐵𝐶 ~ ∆𝐷𝐸𝐹 hY Aqy ieMnHW dy Kyqr&l kRmvwr 64 𝑐𝑚2 Aqy 121 𝑐𝑚2 hn [ jykr 𝐸𝐹 = 12.1𝑐𝑚 hovy qW 𝐵𝐶 
pqw kro [          
10. ie`k ∆𝐴𝐵𝐶 ijsdw kox 𝐶 smkox hY dIAW BujwvW 𝐶𝐴 Aqy 𝐶𝐵 qy kRmvwr ibMdU 𝐷 Aqy 𝐸 siQq hn [ is`D kro ik  
 𝐴𝐸2 +  𝐵𝐷2 =  𝐴𝐵2 + 𝐷𝐸2    
11. iksy smBujI iqRBuj 𝐴𝐵𝐶 dI Bujw 𝐵𝐶 qy ie`k ibMdU 𝐷 ies qrHW siQq hY ik 𝐵𝐷 =

1

3
    hY[is`D kro ik 9𝐴𝐷2 = 7𝐴𝐵2. 



 
12.  𝐴𝐵𝐶𝐷 ie`k smlMb cqurBuj hY ijs ivc̀ 𝐴𝐶 ∥ 𝐷𝐶 Aqy iesdy ivkrx Awps ivc̀ ibMdU 𝑂 qy k`tdy hn [  
idKwE ik   𝐴𝑂

𝐵𝑂
=  

𝐶𝑂

𝐷𝑂
              

13. ic`qr-1 iv`c 𝐷𝐸 ∥ 𝐴𝐶 Aqy 𝐷𝐹 ∥ 𝐴𝐸 hY [is`D kro ik 𝐵𝐹
𝐹𝐸

=  
𝐵𝐸

𝐸𝐶 
         

14. ic`qr-2 iv`c 𝐷𝑀 ∥ 𝐴𝐶 Aqy 𝐷𝑁 ∥ 𝐴𝑀 hY [is`D kro ik 𝐵𝑁
𝑁𝑀

=  
𝐵𝑀

𝑀𝐶 
        

15. ic`qr-3 ivc̀ 𝐷𝑃 ∥ 𝐴𝐶 Aqy 𝐷𝑄 ∥ 𝐴𝑃 hY [is`D kro ik 𝐵𝑄
𝑄𝑃

=  
𝐵𝑃

𝑃𝐶 
          

             
                  ic`qr -1                                     ic`qr -2                                   ic`qr -3 
16. (a) pwieQwgors iQaUrm dI pirBwsw ilKo [   (A)   Qyls iQaUrm dI pirBwsw ilKo [  (2017) 
17. do KMBy ijhnW dIAW aucweIAW 6 mItr Aqy 11 mItr hn Aqy auh smql BUmI qy KVy hn [ jykr auhnW dy hyTly isirAW 
dy ivckwrlI dUrI 12 mItr hovy qW aunWH dy auprilAW isirAW dy ivckwrlI dUrI pqw kro [    (2018) 
18. ie`k ∆𝐴𝐵𝐶 ijsdw kox 𝐶 smkox hY dIAW BujwvW 𝐶𝐴 Aqy 𝐶𝐵 qy kRmvwr ibMdU 𝐷 Aqy 𝐸 siQq hn [ is`D kro ik  
 𝐴𝐸2 + 𝐵𝐷2 =  𝐴𝐵2 +  𝐷𝐸2          (2018) 
19. 𝑷𝑸𝑹 ie`k smkox iqRBuj hY ijsdw kox 𝑃 smkox hY Aqy 𝑄𝑅  qy ibMdU 𝑀  ies qrWH siQq hY ik 𝑃𝑀 ⊥ 𝑄𝑅 hY [drswE ik 
𝑃𝑀2 = 𝑄𝑀.𝑀𝑅            (2019) 
20. isD̀ kro ik sm cqurBuj dIAW BujwvW dy vrgw dw joV ausdy ivkrxW dy vrgW dy joV dy brwbr huMdw hY [  (2019) 

LESSON – 7 
1. aus ibMdU dy inrdyS AMk pqw kro jo ibMdUAW (-3 , 5) Aqy (2, -5) nUM imlwaux vwly ryKwKMf nUM 2:3 dy Anupwq        ivc̀  
vMfdw hY [         (2015) 
2. aus ibMdU dy inrdyS AMk pqw kro jo ibMdUAW (-1 , 7) Aqy (4, -3) nUM imlwaux vwly ryKwKMf nUM 2:3 dy Anupwq         ivc̀  
vMfdw hY [        (2015,2019) 
3. aus ibMdU dy inrdyS AMk pqw kro jo ibMdUAW (-2 , 6) Aqy (3, -4) nUM imlwaux vwly ryKwKMf nUM 2:3 dy Anupwq         ivc̀  
vMfdw hY [         (2015) 
4. jykr 𝐴 −4,−5 , 𝐵 −1,−6 , 𝐶(4,5) Aqy 𝐷(−5,7) ie`k cqurBuj 𝐴𝐵𝐶𝐷 dy isKr hn qW ies cqurBuj dw       Kyqr&l 
pqw kro [         (2015) 
5. jykr 𝐴 −5,7  , 𝐵 −4,−5 , , 𝐶 −1,−6  Aqy 𝐷(4,5)ie`k cqurBuj 𝐴𝐵𝐶𝐷 dy isKr hn qW ies cqurBuj dw       
Kyqr&l pqw kro [         (2015) 
6. jykr 𝐴 −1,−6 , 𝐵 4,5 , 𝐶(−5,7) Aqy 𝐷 −4,−5  ie`k cqurBuj 𝐴𝐵𝐶𝐷 dy isKr hn qW ies cqurBuj dw       
Kyqr&l pqw kro [         (2015) 
7.ibMdUAW 𝐴 −5,7 , 𝐵 −4,−5  Aqy 𝐶(4,5) nwl bxn vwly ∆𝐴𝐵𝐶 dw Kyqr&l pqw kro [           (2016) 
8.ibMdUAW 𝐴 −4,−5  , 𝐵 −1,−6  Aqy 𝐶(4,5) nwl bxn vwly ∆𝐴𝐵𝐶 dw Kyqr&l pqw kro [   (2016) 
9.ibMdUAW 𝐴 −5,−1 , 𝐵 3,−5  Aqy 𝐶(5,2) nwl bxn vwly ∆𝐴𝐵𝐶 dw Kyqr&l pqw kro [           (2016) 
10.ibMdUAW 𝐴(2 , -2) Aqy 𝐵 (-7, 4) nUM imlwaux vwly ryKwKMf nUM iqMn smwn Bwg krn vwly ibMdUAW dy inrdyS AMk pqw kro[ 
11. aus cqurBuj dw Kyqr&l pqw kro ijsdy is^r kRm iv`c  −4,−2 ,  −3,−5 , (3, −2) Aqy  2,3  hn [  (2017) 
12. ibMdUAW (-3,10) Aqy (6,-8) nUM imlwaux vwlw ryKwKMf nUM ibMdU (-1,6) iks Anupwq iv`c  vMfdw hY [  (2017) 
13.  ibMdU A dy inrdyS AMk pqw kro ij`Qy AB ie`k ck̀r dw ivAws hY ijsdw kyNdr (3 , -2) hY Aqy B dy                
inrdyS AMk (2,1) hn [                (2017J) 
14.  ibMdU A dy inrdyS AMk pqw kro ij`Qy AB ie`k ck̀r dw ivAws hY ijsdw kyNdr (2 , -3) hY Aqy B dy                
inrdyS AMk (1 , 4) hn [                (2017J) 
15.  ibMdU A dy inrdyS AMk pqw kro ij`Qy AB ie`k ck̀r dw ivAws hY ijsdw kyNdr (4, -1) hY Aqy B dy                
inrdyS AMk (3,5) hn [                (2017J) 



 

16. jykr A Aqy B kRmvwr (-2,-2) Aqy (2,-4) hox qW ibMdU P dy inrdyS AMk pqw kro qW ik AP= 
3

7
 AB hovy Aqy P ryKwKMf 

AB 'qy siQq hovy[               (2018) 
17. y dw auh m`ul pqw kro ijs dy leI ibMdU P(2,-3)Aqy Q(10,y) dy ivckwr dI dUrI 10 iekweIAW hY[        (2019)  
18.hyT iliKAW iv`coN ikhVw ibMdU  𝑥 −Dury dy siQq hY  :- (𝑎)   (1 , 1)      (𝑏)   (2  , 0 )      (𝑐)   (0 , 3)    (𝑑)    (−4 , −2) 

LESSON – 8 
1. mu`l pqw kro :-                 (2015) 

         (a)     
sin 16°

cos  74°
             (A)    sin 18°

cos  72°
         (e)    

sin 14°

cos  76°
  

2. mu`l pqw kro :-         (2016) 
         (a) cosec 59° −  𝑠𝑒𝑐 31°        (A) cos 48° −  𝑠𝑖𝑛42°          (e) tan 59° −  𝑐𝑜𝑡31°      
3. KwlI sQwn Bro :-          (2017) 
         (a)  ………− 𝑐𝑜𝑡2 = 1           (A) sec2 𝜃 − ……… = 1        (e) sin2 𝜃 + ……… = 1      
4. shI au~qr cuxo :-               (2017 J) 
(a) 5 sin2 𝜃 + 5 cos2 𝜃 =…………       (a)    1 (b)      4  (c)    5  (d)     6 

(A) 9 sec2 𝜃− 9 tan2 𝜃 =…………       (a)    1 (b)     9  (c)   8  (d)     0 

(e) 7 cosec2 𝜃−7 cot2 𝜃 =…………       (a)    1 (b)      4  (c)    7  (d)     0 

5. sin( 𝐴 + 𝐵) = sin𝐴 + sin𝐵          (shI / glq)                                                            (2018) 
6. isD̀ kro ik :-                        (2015) 

(a) 
tan 𝐴−sin 𝐴

𝑡𝑎𝑛𝐴 +𝑠𝑖𝑛𝐴
=  

𝑠𝑒𝑐𝐴−1

𝑠𝑒𝑐𝐴+1
        (A) 

cot 𝐴+ cos 𝐴

𝑐𝑜𝑡𝐴 − cos 𝐴
=  

𝑐𝑜𝑠𝑒𝑐𝐴 +1

𝑐𝑜𝑠𝑒𝑐𝐴 −1
     (e) 

cot 𝐴− cos 𝐴

𝑐𝑜𝑡𝐴 + cos 𝐴
=  

𝑐𝑜𝑠𝑒𝑐𝐴 −1

𝑐𝑜𝑠𝑒𝑐𝐴 +1
  

7.  jykr cot 𝐴 =  
8

15
 hovy qW bwkI swry iqkoximqI Anupwq pqw kro [             (2016)  

8.jykr sec𝐴 =  
13

12
 hovy qW bwkI swry iqkoximqI Anupwq pqw kro [             (2016)  

9.  jykr cosec𝐴 =  
13

5
 hovy qW bwkI swry iqkoximqI Anupwq pqw kro [             (2016)  

10. jykr tan 𝐴 + 𝐵 =   3 Aqy tan 𝐴 − 𝐵 =
1

 3
 ; 0°< 𝐴 + 𝐵 ≤ 90° ; A>B qW A Aqy B dw mu`l pqw kro [ (2017) 

11.  is`D kro :-                (2017) 

(a) 
1+𝑠𝑖𝑛𝐴

1−𝑠𝑖𝑛𝐴
 =𝑠𝑒𝑐𝐴 + 𝑡𝑎𝑛𝐴 ; 𝐴 < 90°   (A)  

1+𝑐𝑜𝑠𝐴

1−𝑐𝑜𝑠𝐴
 =𝑐𝑜𝑠𝑒𝑐𝐴 + 𝑐𝑜𝑡𝐴 ; 𝐴 < 90°        

(e) 
cot 𝐴− cos 𝐴

𝑐𝑜𝑡𝐴 + cos 𝐴
=  

𝑐𝑜𝑠𝑒𝑐𝐴 −1

𝑐𝑜𝑠𝑒𝑐𝐴 +1
 (s)  𝑐𝑜𝑠𝑒𝑐𝜃 − 𝑐𝑜𝑡𝜃 2 =

1−𝑐𝑜𝑠𝜃

1+𝑐𝑜𝑠𝜃
  ; 𝜃 < 90°    

 

12. mu`l pqw kro :-  
sin 2 63°+ sin 2 27°

cos 2 63°+ cos 2 27°
                    (2017) 

13. jykr sec 4A =  cosec(𝐴 − 20°) ij`Qy 4A inaUn kox hY qW A dw mu`l pqw kro [          (2017J) 

14. jykr sin 3A =  cos(𝐴 − 26°) ij`Qy 3A inaUn kox hY qW A dw mu`l pqw kro [           (2017J) 

15. jykr tan 2A =  cot (𝐴 − 18°) ij`Qy 2A inaUn kox hY qW A dw mu`l pqw kro [           (2017J) 

16. ∆𝑨𝑩𝑪 ivc̀ ijsdw kox 𝑩 smkox hY ,𝑨𝑩 = 𝟔𝒄𝒎 Aqy ∠𝐴𝐶𝐵 = 30° hY [ BujwvW 𝑩𝑪 Aqy 𝑨𝑪 dIAW lMbweIAW pqw kro[ 

17. ∆𝑨𝑩𝑪 iv`c ijsdw kox 𝑩 smkox hY ,𝑨𝑩 = 𝟓𝒄𝒎 Aqy ∠𝐴𝐶𝐵 = 30° hY [BujwvW 𝑩𝑪 Aqy 𝑨𝑪 dIAW lMbweIAW pqw kro[ 

18 .∆𝑨𝑩𝑪 iv`c ijsdw kox 𝑩 smkox hY ,𝑨𝑩 = 𝟒𝒄𝒎 Aqy ∠𝐴𝐶𝐵 = 30° hY [BujwvW 𝑩𝑪 Aqy 𝑨𝑪 dIAW lMbweIAW pqw kro[ 

19. ∆𝑨𝑪𝑩 lE ijsdw kox 𝐶 smkox hY ,𝑨𝑩 = 𝟐𝟗 iekweIAw , 𝑩𝑪=24 iekweIAW Aqy ∠𝐴𝐵𝐶 = 𝜃° hY qW 

     sin2 𝜃 + cos2 𝜃 dw mu`l pqw kro [         (2018) 

20. jykr 3cotA =4    qW pVqwl kro ik  
1−tan 2 𝐴

1+tan 2 𝐴
=  cos2 𝐴 − sin2 𝐴 hY jW nhIN [    (2019) 

 
 
 



 

LESSON – 9 
1. 1.5m lMbw ie`k pyRKk icmnI qoN 23.5 mItr dI dUrI qy hY [ausdI A`K nwl icmnI dy is^r dw aucwx kox 45° hY [ icmnI 
dI aucweI pqw kro [         (2015) 
2. 1.5m lMbw ie`k pyRKk icmnI qoN 18.5 mItr dI dUrI qy hY [ausdI A`K nwl icmnI dy is^r dw aucwx kox 45° hY [ icmnI 
dI aucweI pqw kro [         (2015) 
3. 1.5m lMbw ie`k pyRKk icmnI qoN 28.5 mItr dI dUrI qy hY [ausdI A`K nwl icmnI dy is^r dw aucwx kox 45° hY [ icmnI 
dI aucweI pqw kro [         (2015) 
4. zmIn qoN 75m dI aucweI qy ie`k pqMg au~f rhI hY[pqMg nwl l`gy Dwgy nUM AsQweI rUp ivc̀ zmIn qy ie`k ibMdU nwl bMnH 
id`qw igAw hY[zmIn nwl Dwgy dw JukwA 60° hY[ieh mMn ky ik Dwgy ivc̀ koeI iF`l nhIN hY,Dwgy dI lMbweI pqw kro[ (2016) 
5. zmIn qoN 90 m dI aucweI qy ie`k pqMg au~f rhI hY[pqMg nwl l`gy Dwgy nUM AsQweI rUp ivc̀ zmIn qy ie`k ibMdU nwl bMnH 
id`qw igAw hY[zmIn nwl Dwgy dw JukwA 60° hY[ieh mMn ky ik Dwgy ivc̀ koeI iF`l nhIN hY,Dwgy dI lMbweI pqw kro[ (2016) 
6. zmIn qoN 60 m dI aucweI qy ie`k pqMg au~f rhI hY[pqMg nwl l`gy Dwgy nUM AsQweI rUp ivc̀ zmIn qy ie`k ibMdU nwl bMnH 
id`qw igAw hY[zmIn nwl Dwgy dw JukwA 60°hY[ieh mMn ky ik Dwgy ivc̀ koeI iF`l nhIN hY,Dwgy dI lMbweI pqw kro[  (2016) 
7. ie`k 80 mItr cOVI sVk dy dovW pwisAW qy Awhmxy swhmxy brwbr lMbweI vwly do KMby lg̀y hoey hn [iehnW dohW KMiBAW dy 
iv`c sVk ‘qy iek̀ ibMdU qoN KMiBAW dy isKrW dy aucwx kox kRmvwr 60° Aqy 30°  hn [KMiBAW dI aucweI Aqy KMiBAW qoN ibMdU dI 
dUrI pqw kro [              (2017, 2017 J) 
8. ie`k mInwr dy AwDwr ibMdU qoN iek̀ iemwrq dy is^r dw aucwx kox 30° hY Aqy iemwrq dy AwDwr ibMdU qoN mInwr dy is^r dw 
aucwx kox 60° hY[jykr mInwr 50 mItr au~cI hovy qW iemwrq dI aucweI pqw kro [            (2017) 
9. zmIn dy ie`k ibMdU qoN jo mInwr dy AwDwr ibMdU qy 30 mItr dI dUrI qy hY [mInwr dy is^r dw aucwx kox 30° hY [mInwr dI 
aucweI pqw kro [        (2017, 2018) 
10. ie`k60 mItr cOVI sVk dy dovW pwisAW qy Awhmxy swhmxy brwbr lMbweI vwly do KMby lg̀y hoey hn [iehnW dohW KMiBAW dy 
iv`c sVk ‘qy iek̀ ibMdU qoN KMiBAW dy isKrW dy aucwx kox kRmvwr 60° Aqy 30°  hn [KMiBAW dI aucweI Aqy KMiBAW qoN ibMdU dI 
dUrI pqw kro [              (2017 J) 
11. ie`k 40 mItr cOVI sVk dy dovW pwisAW qy Awhmxy swhmxy brwbr lMbweI vwly do KMby lg̀y hoey hn [iehnW dohW KMiBAW 
dy ivc̀ sVk ‘qy iek̀ ibMdU qoN KMiBAW dy isKrW dy aucwx kox kRmvwr 60° Aqy 30°  hn [KMiBAW dI aucweI Aqy KMiBAW qoN ibMdU 
dI dUrI pqw kro [                 (2017 J) 
12. zmIn qoN 60 m dI aucweI qy ie`k pqMg au~f rhI hY[pqMg nwl l`gy Dwgy nUM AsQweI rUp ivc̀ zmIn qy ie`k ibMdU nwl bMnH 
id`qw igAw hY[zmIn nwl Dwgy dw JukwA 60°hY[ieh mMn ky ik Dwgy ivc̀ koeI iF`l nhIN hY,Dwgy dI lMbweI pqw kro[  (2019) 

LESSON-10 
2 Aqy 4 AMk vwly pRSn :- 

1. is`D kro ik iksy c`kr dy iksy ivAws PQ dy isirAW qy iK~cIAW geIAW sprS ryKwvW smwqr huMdIAW hn [      (2015) 

2. is`D kro ik iksy c`kr dy iksy ivAws AB dy isirAW qy iK~cIAW geIAW sprS ryKwvW smwqr huMdIAW hn [      (2015) 

3. is`D kro ik iksy ck̀r dy iksy ivAws XY dy isirAW qy iK~cIAW geIAW sprS ryKwvW smwqr huMdIAW hn [      (2015) 

4. is`D kro ik do smkyNdrI c`krW ivc̀ v`fy ck̀r dI jIvw jo Coty c`kr nUM sprS krdI hY sprS ibMdU qy smduBwijq huMdI hY[ 

5. ie`k ck̀r nUM bwhrly pwsy qoN CUMhdw cqurBuj ABCD iKicAw igAw hY(ic`qr-1)[isD̀ kro ik AB + CD = AD + BC          (2017) 

6. ie`k c`kr nUM bwhrly pwsy qoN CUMhdw cqurBuj LMNP iKicAw igAw hY(ic`qr-2) [is`D kro ik LM + NP = LP + MN      (2017) 

7. ie`k c`kr nUM bwhrly pwsy qoN CUMhdw cqurBuj PQRS iKicAw igAw hY(ic`qr-3) [ is`D kro ik PQ + RS = PS + QR     (2017) 

                                 
                  ic`qr -1                                     ic`qr -2                                   ic`qr -3 



 
8. ie`k ibMdU A qoN , jo iek̀ c`kr dy kyNdr qoN 5 sm dI dUrI ‘qy hY , c`kr ‘qy sprS ryKw dI lMbweI 4 sm hY [ c`kr dw 
ArD ivAws pqw kro [                                                                                            (2017) 

9. ie`k ibMdU P qoN , jo iek̀ c`kr dy kyNdr qoN 13 sm dI dUrI ‘qy hY , c`kr ‘qy sprS ryKw dI lMbweI 12 sm hY [ c`kr dw 
ArD ivAws pqw kro [                                                                                            (2017) 
10. ie`k ibMdU T qoN , jo iek̀ c`kr dy kyNdr qoN 10 sm dI dUrI ‘qy hY , c`kr ‘qy sprS ryKw dI lMbweI 6 sm hY [ c`kr dw 
ArD ivAws pqw kro [                                                                                            (2017) 
11. jykr ie`k ibMdU P qoN O kyNdr vwly iksy c`kr ‘qy PA , PB sprS ryKwvW Awps iv`c 80° dy kox ‘qy JukIAW hn 
qW ∠𝑃𝑂𝐴 pqw kro [                                                                                    (2018) 
12. is`D kro ik c`kr dy bwhrly pwsy qoN CUMhdI hoeI cqurBuj dIAW Awhmxy swhmxy dIAW BujwvW kyNdr ‘qy sMpUrk kox  
    bxwaudIAW hn [                                                                                      (2018) 

13. isD̀ kro ik bwhrI ibMdU qoN iksy c`kr qy iK`cIAW geIAW sprS ryKwvW dw ivckwrlw kox sprS ibMdUAW nUM imlwaux vwly 
ryKwKMf duAwrw kyNdr qy bxy kox dw sMpUrk huMdw hY [                (2019) 

6 AMk vwly pRSn :- 

13.kyNdr O vwly c`kr‘qy bwhrI ibMdU T qoN do sprS ryKwvW TP Aqy TQ iKc̀IAW geIAW hn[isD̀ kro ik ∠𝑃𝑇𝑄 = 2∠𝑂𝑃𝑄 hY[ 
            (2015,2016,2019) 
14. kyNdr O vwly c`kr ‘qy bwhrI ibMdU A qoN do sprS ryKwvW AB Aqy AC iK`cIAW geIAW hn [is̀D kro ik ∠𝐵𝐴𝐶 = 2∠𝑂𝐵𝐶  
hY [                                                                                        (2015) 
15. kyNdr O vwly ck̀r ‘qy bwhrI ibMdU K  qoN do sprS ryKwvW KM Aqy KL iK`cIAW geIAW hn [is`D kro ik ∠𝐿𝐾𝑀 = 2∠𝑂𝐿𝑀  
hY [                                                                                       (2015) 
16. bwhrI ibMdU qoN c`kr qy iK`cIAW geIAW sprS ryKwvW dIAW lMbweIAW brwbr huMdIAW hn [is`D kro[  (2016,2017,2018) 

LESSON-11 
1.  7.4 cm lMbw ie`k ryKwKMf iK`co Aqy iesnUM 5:8 dy Anupwq ivc̀ vMfo [                                             (2015) 
2.  7.2 cm lMbw ie`k ryKwKMf iK`co Aqy iesnUM 5:8 dy Anupwq ivc̀ vMfo [                                             (2015) 
3.  7.6 cm lMbw ie`k ryKwKMf iK`co Aqy iesnUM 5:8 dy Anupwq ivc̀ vMfo [                                             (2015) 

4.ie`k id`qy gey iqRBuj 𝑋𝑌𝑍 dy smrUp iqRBuj dI rcnw kro [ ijsdIAW BujwvW 𝑋𝑌𝑍 dIAW sMgq BujwvW dw 5

3
 hovy [   (2015) 

5.ie`k id`qy gey iqRBuj 𝑃𝑄𝑅 dy smrUp iqRBuj dI rcnw kro [ ijsdIAW BujwvW 𝑃𝑄𝑅 dIAW sMgq BujwvW dw 5

3
 hovy [   (2015) 

6.ie`k id`qy gey iqRBuj 𝐴𝐵𝐶 dy smrUp iqRBuj dI rcnw kro [ ijsdIAW BujwvW 𝐴𝐵𝐶 dIAW sMgq BujwvW dw 5

3
 hovy [   (2015) 

7. 3 sm ArD ivAws dw ie`k c`kr iK`co [ kyNdr qoN 7 sm dUr siQq ie`k ibMdU qoN c`kr ‘qy sprS ryKwvW dy joVy dI rcnw 
kro Aqy auhnW dIAW lMbweIAW mwpo [                                                                              (2016) 
8. 2.5 sm ArD ivAws dw ie`k ck̀r iK`co [ kyNdr qoN 6 sm dUr siQq ie`k ibMdU qoN c`kr ‘qy sprS ryKwvW dy joVy dI rcnw 
kro Aqy auhnW dIAW lMbweIAW mwpo [                                                                              (2016) 
9. 2 sm ArD ivAws dw ie`k c`kr iK`co [ kyNdr qoN 5 sm dUr siQq ie`k ibMdU qoN c`kr ‘qy sprS ryKwvW dy joVy dI rcnw 
kro Aqy auhnW dIAW lMbweIAW mwpo [                                                                              (2016) 
10.  6.5 cm lMbw ie`k ryKwKMf iK`co Aqy iesnUM 3:4 dy Anupwq iv`c vMfo [                                            (2017)  
11.  4.5 cm lMbw iek̀ ryKwKMf iK`co Aqy iesnUM 1:2 dy Anupwq iv`c vMfo [                                            (2017) 
12.  7 cm lMbw ie`k ryKwKMf iK`co Aqy iesnUM 2:3 dy Anupwq iv`c vMfo [                                              (2017) 
13. 4 sm ArD ivAws dw ie`k c`kr iK`co [ kyNdr qoN 7 sm dUr siQq ie`k ibMdU qoN c`kr ‘qy sprS ryKwvW dy joVy dI rcnw 
kro Aqy auhnW dIAW lMbweIAW mwpo [                                                                              (2017) 
15. 4 sm ArD ivAws dy ie`k c`kr ‘qy AijhIAW do sprS ryKwvW iK`co jo Awps iv`c 60° dy kox qy JukIAW hox [ (2017) 
16. 5 sm ArD ivAws dy ie`k c`kr ‘qy AijhIAW do sprS ryKwvW iK`co jo Awps iv`c 60° dy kox qy JukIAW hox [ (2017) 
17. 6 sm ArD ivAws dw ie`k c`kr iK`co [ kyNdr qoN 7 sm dUr siQq ie`k ibMdU qoN c`kr ‘qy sprS ryKwvW dy joVy dI rcnw 
kro Aqy auhnW dIAW lMbweIAW mwpo [                                                                              (2018) 
18. 3 sm ArD ivAws dw ie`k c`kr iK`co [ ck̀r dy bwhr ie`k ibMdU lE[ ies ibMdU qoN c`kr ‘qy sprS ryKwvW dy joVy dI 
rcnw kro [                                                                                     (2019) 



 

LESSON-12 
2015 

1.  ie`k ck̀rwkwr Kyq  ‘qy 24 rupey pRqI mItr dI dr nwl vwV lgwaux dw Krc 5280 rupey hY [ies Kyq dI 0.50 pRqI vrg 
mItr dI dr nwl vhweI krvweI jwxI hY [ Kyq dI vhweI krwaux dw Krc pqw kro [                                

2.  ie`k ck̀rwkwr Kyq  ‘qy 36 rupey pRqI mItr dI dr nwl vwV lgwaux dw Krc 7920 rupey hY [ies Kyq dI 0.75 pRqI vrg 
mItr dI dr nwl vhweI krvweI jwxI hY [ Kyq dI vhweI krwaux dw Krc pqw kro [                                

3.  ie`k ck̀rwkwr Kyq  ‘qy 12 rupey pRqI mItr dI dr nwl vwV lgwaux dw Krc 2640 rupey hY [ies Kyq dI 0.25 pRqI vrg 
mItr dI dr nwl vhweI krvweI jwxI hY [ Kyq dI vhweI krwaux dw Krc pqw kro [    
4. Bujw 12 sm vwly ie`k vrg dy hryk kony qoN 3 sm ArD ivAws vwly ck̀r dw ie`k cOQweI 
k`itAw igAw hY Aqy ivcwly 6 sm ivAws dw ie`k c`kr vI k`itAw igAw hY ijvyN ik ic`qr iv`c 
drswieAw igAw hY [ vrg dy bwkI Bwg dw Kyqr&l pqw kro [ 
5. Bujw 8 sm vwly ie`k vrg dy hryk kony qoN 2 sm ArD ivAws vwly c`kr dw ie`k cOQweI 
k`itAw igAw hY Aqy ivcwly 4 sm ivAws dw ie`k ck̀r vI k`itAw igAw hY ijvyN ik ic`qr ivc̀ 
drswieAw igAw hY [ vrg dy bwkI Bwg dw Kyqr&l pqw kro [ 
6. Bujw 4 sm vwly ièk vrg dy hryk kony qoN 1 sm ArD ivAws vwly c`kr dw ie`k cOQweI 
k`itAw igAw hY Aqy ivcwly 2 sm ivAws dw ie`k c`kr vI k`itAw igAw hY ijvyN ik ic`qr iv`c 
drswieAw igAw hY [ vrg dy bwkI Bwg dw Kyqr&l pqw kro [ 

 

2016 

7. ie`k GVI dI imMtW vwlI sUeI dI lMbweI 14 sm hY [ ies sUeI duAwrw 5 imMt ivc̀ qYA kIqy Kyqr dw Kyqr&l pqw kro [ 
8. ie`k GVI dI imMtW vwlI sUeI dI lMbweI 14 sm hY [ ies sUeI duAwrw 15 imMt ivc̀ qYA kIqy Kyqr dw Kyqr&l pqw kro [ 
9. ie`k GVI dI imMtW vwlI sUeI dI lMbweI 14 sm hY [ ies sUeI duAwrw 10 imMt ivc̀ qYA kIqy Kyqr dw Kyqr&l pqw kro [ 

10. ic`qr iv`c CwieAw AMikq Bwg dw Kyqr&l pqw kro jykr ABCD Bujw 28 sm 
vwlw ie`k vrg hY Aqy APD Aqy BPC do ArD c`kr hn [ 
11. ic`qr iv`c CwieAw AMikq Bwg dw Kyqr&l pqw kro jykr ABCD Bujw 42 sm 
vwlw ie`k vrg hY Aqy APD Aqy BPC do ArD c`kr hn [ 
12. ic`qr ivc̀ CwieAw AMikq Bwg dw Kyqr&l pqw kro jykr ABCD Bujw 14 sm 
vwlw ie`k vrg hY Aqy APD Aqy BPC do ArD c`kr hn [ 

 
2017 

13.hyTW id`qy ic`qr-1 iv`c idKwey rMgIn Bwg dw Kyqr&l pqw kro ij`Qy 10 sm vwly ie`k smBujI iqRBuj OAB dy isKr O nUM 
kyNdr mMn ky 5 sm ArD ivAws vwlw ie`k ck̀rI cwp iK`icAw igAw hY [ 
14.hyTW id`qy ic`qr-2 iv`c idKwey rMgIn Bwg dw Kyqr&l pqw kro ij`Qy 14 sm vwly ie`k smBujI iqRBuj OAB dy isKr O nUM 
kyNdr mMn ky 7 sm ArD ivAws vwlw ie`k ck̀rI cwp iK`icAw igAw hY [ 
15.hyTW id`qy ic`qr-3 ivc̀ idKwey rMgIn Bwg dw Kyqr&l pqw kro ij`Qy 12 sm vwly ie`k smBujI iqRBuj OAB dy isKr O nUM 
kyNdr mMn ky 6 sm ArD ivAws vwlw ie`k ck̀rI cwp iK`icAw igAw hY [ 

                         
                  ic`qr -1                                     ic`qr -2                                   ic`qr -3 
16. ArD ivAws 21 sm vwly ck̀r dw ie`k cwp kyNdr ‘qy 60° dw kox bxwauNdw hY [ pqw kro :- 
    (a)   cwp dI lMbweI       (A) cwp duAwrw bxwey gey ArD ivAwsI KMf dw Kyqr&l [ 
 



 
17. ArD ivAws 7 sm vwly ck̀r dw ie`k cwp kyNdr ‘qy 60° dw kox bxwauNdw hY [ pqw kro :- 
    (a)   cwp dI lMbweI       (A) cwp duAwrw bxwey gey ArD ivAwsI KMf dw Kyqr&l [ 
18. ArD ivAws 14 sm vwly ck̀r dw ie`k cwp kyNdr ‘qy 60° dw kox bxwauNdw hY [ pqw kro :- 
    (a)   cwp dI lMbweI       (A) cwp duAwrw bxwey gey ArD ivAwsI KMf dw Kyqr&l [ 
19. shI au~qr cuxo :- 
ArD ivAws R vwly c`kr dy aus ArD ivAwsI KMf dw Kyqr&l ijsdw kox 𝑝° hY hyT ilKy 
Anuswr hY  

(a) 𝑝

180
 × 2𝜋𝑅     (A) 𝑝

180
 × 𝜋𝑅2        (e) 𝑝

360
 × 2𝜋𝑅        (s) 𝑝

720
 × 2𝜋𝑅2 

20. ic`qr iv`c 𝑂𝐴𝐶𝐵 kyNdr 𝑂 Aqy ArD ivAws 3.5 sm vwly ie`k c`kr dw cOQw Bwg hY [ 
jykr 𝑂𝐷 = 2 sm hovy qW hyT iliKAW dw Kyqr&l pqw kro :-  
(a) cOQweI 𝑂𝐴𝐶𝐵          (A) rMgIn Bwg  [                                   (2018)                                 
21. ck̀r iv`c kox 𝜃 vwly ArD ivAwsI KMf dw KyqrPl pqw krn dw sUqr ilKo [(2019)                                 

 

 

21. ArD ivAws 21 sm vwly ck̀r dw ie`k cwp kyNdr ‘qy 60° dw kox bxwauNdw hY [ pqw kro :- 
    (a)   cwp dI lMbweI       (A) cwp duAwrw bxwey gey ArD ivAwsI KMf dw Kyqr&l [          (2019)                                 

LESSON-13 

1 AMk vwly pRSn 
1. Gxwv dw Awieqn pqw krn dw sUqr ilKo [                                                                    (2015) 
2. bylx dw Awieqn pqw krn dw sUqr ilKo [                                                                    (2015) 
3. SMkU dw Awieqn pqw krn dw sUqr ilKo [                                                                      (2015) 
4. ie`k hwl dI lMbweI , cOVweI Aqy aucweI kRmvwr 14𝑚 , 9𝑚 Aqy 7𝑚 hY [ iesdy &rs dw Kyqr&l pqw kro [    (2016) 
5. ie`k hwl dI lMbweI , cOVweI Aqy aucweI kRmvwr 15𝑚 , 9𝑚 Aqy 7𝑚 hY [ iesdy &rs dw Kyqr&l pqw kro [    (2016) 
6. ie`k hwl dI lMbweI , cOVweI Aqy aucweI kRmvwr 16𝑚 , 9𝑚 Aqy 7𝑚 hY [ iesdy &rs dw Kyqr&l pqw kro [    (2016) 
7. 3 sm ArD ivAwsI goly dw Awieqn pqw kro [                                                                (2017) 
8. 21 sm ArD ivAwsI goly dw Awieqn pqw kro [                                                               (2017) 
9. SMkU dy iCMnk Awieqn pqw krn dw sUqr ilKo [                                                                (2018) 

10. goly dI sqHw dw Kyqr&l pqw krn dw sUqr 4

3
𝜋𝑟3 hY [       (2019) 

6 AMk vwly pRSn 
1. ArD ivAws 2.1 𝑐𝑚 vwly DwqU dy ie`k goly nUM ipGlw ky ArD ivAws 3 𝑐𝑚 vwly ie`k bylx dy rUp ivc̀ FwilAw igAw hY[ 
bylx dI aucweI pqw kro [                                                                                       (2015) 
2. ArD ivAws 6.3 𝑐𝑚 vwly DwqU dy ie`k goly nUM ipGlw ky ArD ivAws 9 𝑐𝑚 vwly ièk bylx dy rUp ivc̀ FwilAw igAw hY[ 
bylx dI aucweI pqw kro [                                                                                       (2015) 
3. ArD ivAws 4.2 𝑐𝑚 vwly DwqU dy ie`k goly nUM ipGlw ky ArD ivAws 6 𝑐𝑚 vwly ièk bylx dy rUp ivc̀ FwilAw igAw hY[ 
bylx dI aucweI pqw kro [                                                                                       (2015) 
4. pwxI pIx vwlw ie`k iglws 14𝑐𝑚 aucweI vwly ie`k SMkU dy iCMnk dy Awkwr dw hY [ donW ck̀rwkwr isirAW dy ivAws 
4 𝑐𝑚 Aqy 2 𝑐𝑚 hn [ ies iglws dI Dwrn smr`Qw pqw kro [                                                    (2015)                                                    
5. pwxI pIx vwlw ie`k iglws 45𝑐𝑚 aucweI vwly ie`k SMkU dy iCMnk dy Awkwr dw hY [ donW ck̀rwkwr isirAW dy ivAws 
56 𝑐𝑚 Aqy 14 𝑐𝑚 hn [ ies iglws dI Dwrn smr`Qw pqw kro [                                                  (2015) 
6. pwxI pIx vwlw ie`k iglws 14𝑐𝑚 aucweI vwly ie`k SMkU dy iCMnk dy Awkwr dw hY [ donW ck̀rwkwr isirAW dy ivAws 
36 𝑐𝑚 Aqy 30 𝑐𝑚 hn [ ies iglws dI Dwrn smr`Qw pqw kro [                                                  (2015) 
7. 20𝑐𝑚 au~cI Aqy 16 𝑐𝑚 AWDwr dy ArD ivAws vwlI iek̀ bylxwkwr bwltI ryqnwl BrI hoeI hY [ies bwltI nUM BUmI qy 
KwlI kIqw jWdw hY Aqy ies ryq dI ie`k SMkU Awkwr FyrI bxweI jWdI hY [ jykr SMkU Awkwr FyrI dI aucweI 15𝑐𝑚 hY qW ies 
FyrI dI ArD ivAws Aqy iqrCI aucweI pqw kro [                                                                (2016) 



 
8. 28𝑐𝑚 au~cI Aqy 15 𝑐𝑚 AWDwr dy ArD ivAws vwlI iek̀ bylxwkwr bwltI ryqnwl BrI hoeI hY [ies bwltI nUM BUmI qy 
KwlI kIqw jWdw hY Aqy ies ryq dI ie`k SMkU Awkwr FyrI bxweI jWdI hY [ jykr SMkU Awkwr FyrI dI aucweI 21𝑐𝑚 hY qW ies 
FyrI dI ArD ivAws Aqy iqrCI aucweI pqw kro [                                                                (2016) 
9.  32𝑐𝑚 au~cI Aqy 18 𝑐𝑚 AWDwr dy ArD ivAws vwlI ie`k bylxwkwr bwltI ryqnwl BrI hoeI hY [ies bwltI nUM BUmI qy 
KwlI kIqw jWdw hY Aqy ies ryq dI ie`k SMkU Awkwr FyrI bxweI jWdI hY [ jykr SMkU Awkwr FyrI dI aucweI 24𝑐𝑚 hY qW ies 
FyrI dI ArD ivAws Aqy iqrCI aucweI pqw kro [                                                         (2016,2017) 
10. do Gx , ijMnHW iv`coN hryk dw Awieqn 216𝑐𝑚3 hY [ , dy smwn &lkW nUM imlw ky ie`k Tos bxwieAw igAw hY [ ies nwl 
pRwpq dI sqHw dw Kyqr&l pqw kro [                                                                              (2016) 
11. do Gx , ijMnHW iv`coN hryk dw Awieqn 125𝑐𝑚3 hY [ , dy smwn &lkW nUM imlw ky ie`k Tos bxwieAw igAw hY [ ies nwl 
pRwpq dI sqHw dw Kyqr&l pqw kro [                                                                              (2016) 
12. do Gx , ijMnHW iv`coN hryk dw Awieqn 64𝑐𝑚3 hY [ , dy smwn &lkW nUM imlw ky ie`k Tos bxwieAw igAw hY [ ies nwl 
pRwpq dI sqHw dw Kyqr&l pqw kro [                                                                              (2016) 
13. ie`k iKfOxw ArD ivAws 3.5𝑐𝑚 vwly ie`k SMkU Awkwr dw hY jo ausy ArD ivAws vwly ièk ArD goly au~pr itikAw hY [ 
ies iKfOxy dI ku`l aucweI 15.5𝑐𝑚 hY [ ies iKfOxy dI ku`l sqHw dw Kyqr&l pqw kro [                              (2017) 
14. ivAws 7𝑚 vwlw ie`k KUh 20𝑚 fUMGw pu`itAw jWdw hY [ put̀x nwl inklI imt̀I nUM ie`ko ijhy rUp iv`c PYlw ky 
          22𝑚 × 14𝑚 vwlw ie`k cbUqrw bxwieAw igAw hY [ies cbUqry dI aucweI pqw kro [                         (2017) 
15. ie`k iKfOxw ArD ivAws 7 𝑐𝑚 vwly ièk SMkU Awkwr dw hY jo ausy ArD ivAws vwly ie`k ArD goly au~pr itikAw hY [ 
ies iKfOxy dI ku`l aucweI 15.5𝑐𝑚 hY [ ies iKfOxy dI ku`l sqHw dw Kyqr&l pqw kro [                              (2017) 
16. aucweI 220 𝑐𝑚 Aqy AwDwr ivAws 24 𝑐𝑚 vwlI ie`k bylx ijs qy aucweI 60 𝑐𝑚 Aqy ArD ivAws 8 𝑐𝑚 vwlw ie`k 
hor bylx r`iKAw hoieAw hY , nwl lohy dw ie`k KMbw bxwieAw igAw hY [ ies KMby dw dRvmwn (Bwr) pqw kro jdoNik id`qw hY 
1𝑐𝑚3 lohy dw Bwr 8𝑔 huMdw hY [ (𝜋 = 3.14 lau)                                                                   (2017) 
17. 12 𝑐𝑚  ivAws Aqy 15 𝑐𝑚  vwly ie`k lMb ck̀rI bylx dy Awkwr dw brqn AwieskRIm nwl pUrw BirAw hoieAw hY [ ies 
AwieskRIm dI aucweI 12 𝑐𝑚 Aqy ivAws 6 𝑐𝑚 vwly sMkUAW iv`c BirAw jwxw hY , ijhnW dw auprI isrw ArD golwkwr hovygw 
, aunWH SMkUAW dI sMiKAW pqw kro jo ies AwieskRIm nwl Bry jw skdy hn [                                        (2017)  
18. ie`k jUs vycx vwlw Awpxy gRwhkw nuM ic`qr ivc̀ idKwey iglwsW nwl jUs idMdw hY 
[ vylxwkwr iglws dw AMdrUnI ivAws 5 sm sI prMqU iglws dy hyTly AwDwr (ql) 
iv`c auBirAw hoieAw ArD golw sI , ijs nwl iglws dI Dwrx smr`Qw G`t ho jWdI 
sI [ jykr iek̀ iglws dI aucweI 10 sm sI qW iglws dI AwBwsI Dwrx smr`Qw Aqy 
ausdI Asl Dwrx smr`Qw pqw kro [  
19. ivAws 3𝑚 vwlw iek̀ KUh 14𝑚 fUMGweI qk̀ pu`itAw jWdw hY [ies ivc̀oN inklI 
hoeI im`tI nUM KUh cwry pwsy 4𝑚 cOVI iek̀ c`krwkwr cbuqrw bxwauNdy hoey smwn rUp ivc̀ 
PYlw ky ie`k pRkwr dw bMnH bxwieAw hY [ies bMnH dI aucweI pqw kro[   

        (2018) 

20.lk̀VI dy ie`k Tos bylx dy hryk isry qy iek̀ ArD golw Kod ky k`Fdy hoey , iek̀ vsqU bxweI jWdI 
hY ijvyN ik ic`qr ivc̀ idKwieAw igAw hY [ jykr bylx dI au~cweI 10 sm hY Aqy AwDwr dw ArD 
ivAws 3.5 sm hY qW ies vsqU dI ku`lH sqHw dw Kyqr&l pqw kro [                        (2019) 
21. au~cweI 220sm Aqy ArD ivAws 24 sm vwly ie`k vylx ijs qy au~cweI 60 sm Aqy ArD 
ivAws 8 sm vwlw ie~k hor vylx r`iKAw hoieAw hY nwl lohy dw ie`k KMBw bxwieAw igAw hY [ ies 
KMBy dw dRvmwn(Bwr) pqw kro , jdoNik id`qw hY 1 𝑐𝑚3 lohy dw dRvmwn (Bwr) lgBg 8𝑔 huMdw hY [  
( π=3.14 lE)                                                                           (2019)  

LESSON – 14 
1. hyTW id`qI swrxI iksy muh`ly dy 25 pirvwrW dy Bojn au~pr hoey rojwnw ^rc nUM drswauNdI hY  
 
 
 
ie`k auicq ivDI dw pRXog krky Bojn au~pr hoey ^rc dw m`Dmwn pqw kro [     (2015) 

rojwnw jyb ^rc ( rupey iv`c) 100-150 150-200 200-250 250-300 300-350 
pirvwrW dI sMiKAw 4 5 12 2 2 



 
2. hyT id`qI hoeI vMf ie`k jmwq dy 30 ividAwrQIAW dy vzn (Bwr) nUM drswauNdI hY[ividAwrQIAW dw m`iDkw Bwr pqw kro[ 

 
        (2015)  
 

3. hyTW id`qI swrxI iksy muh`ly dy 25 pirvwrW dy Bojn au~pr hoey rojwnw ^rc nUM drswauNdI hY  
 
 
 
ie`k auicq ivDI dw pRXog krky Bojn au~pr hoey ^rc dw m`Dmwn pqw kro [     (2015) 
4. hyTW id`qI swrxI iksy muh`ly dy 25 pirvwrW dy Bojn au~pr hoey rojwnw ^rc nUM drswauNdI hY  
 
 
 
ie`k auicq ivDI dw pRXog krky Bojn au~pr hoey ^rc dw m`Dmwn pqw kro [     (2015) 
5. hyT id`qI hoeI vMf ie`k jmwq dy 30 ividAwrQIAW dy vZn (Bwr) nUM drswauNdI hY[ividAwrQIAW dw m`iDkw Bwr pqw kro[ 

 
        (2015) 
 

6. hyT id`qI hoeI vMf ie`k jmwq dy 30 ividAwrQIAW dy vjn (Bwr) nUM drswauNdI hY[ividAwrQIAW dw m`iDkw Bwr pqw kro[ 
  
        (2015) 
 
 

7. iksy PYktrI dy 50 mzdurW dI rojwnW mzdurI dy hyT ilKI vMf swrxI au~qy ivcwr kro[ies PYktrI dy mzdurW dI m`Dmwn 
rojwnw mzdurI pqw kro [           (2016) 

rojwnw mzdurI(rupieAW iv`c) 100-120 120-140 140-160 160-180 180-200 

mzdurW dI sMiKAw 8 6 10 14 12 
8. iksy PYktrI dy 50 mzdurW dI rojwnW mzdurI dy hyT ilKI vMf swrxI au~qy ivcwr kro[ies PYktrI dy mzdurW dI m`Dmwn 
rojwnw mzdurI pqw kro [           (2016) 

rojwnw mzdurI(rupieAW iv`c) 100-120 120-140 140-160 160-180 180-200 

mzdurW dI sMiKAw 14 8 6 10 12 
9. iksy PYktrI dy 50 mzdurW dI rojwnW mzdurI dy hyT ilKI vMf swrxI au~qy ivcwr kro[ies PYktrI dy mzdurW dI m`Dmwn 
rojwnw mzdurI pqw kro [           (2016) 

rojwnw mzdurI(rupieAW iv`c) 100-120 120-140 140-160 160-180 180-200 

mzdurW dI sMiKAw 12 14 8 6 10 
  
10. hyTW id`qI swrxI iksy hspqwl ivc̀ iek̀ ivSyS swl iv`c BrqI hoey rogIAw dI aumr nUM drswauNdI hY            

aumr(swlW ivc̀) 5-15 15-25 25-35 35-45 45-55 55-65 

rogIAW dI sMiKAw 6 11 21 23 14 5 

Eprokq AMkiVAW dw bhulk pqw kro [          (2016) 
11. hyTW id`qI swrxI iksy hspqwl ivc̀ iek̀ ivSyS swl iv`c BrqI hoey rogIAw dI aumr nUM drswauNdI hY            

aumr(swlW ivc̀) 5-15 15-25 25-35 35-45 45-55 55-65 

rogIAW dI sMiKAw 11 6 21 23 5 14 

Eprokq AMkiVAW dw bhulk pqw kro [          (2016) 
 

vzn(ik.gwR.) 40-45 45-50 50-55 55-60 60-65 65-70 70-75 
ividAwrQIAW dI igxqI 2 3 8 6 6 3 2 

rojwnw jyb ^rc ( rupey iv`c) 150-200 200-250 250-300 300-350 350-400 
pirvwrW dI sMiKAw 4 5 12 2 2 

rojwnw jyb ^rc ( rupey iv`c) 50-100 100-150 150-200 200-250 250-300 
pirvwrW dI sMiKAw 4 5 12 2 2 

vzn(ik.gwR.) 45-50 50-55 55-60 60-65 65-70 70-75 75-80 
ividAwrQIAW dI igxqI 2 3 8 6 6 3 2 

vzn(ik.gwR.) 50-55 55-60 60-65 65-70 70-75 75-80 80-85 
ividAwrQIAW dI igxqI 2 3 8 6 6 3 2 



 
12. hyTW id`qI swrxI iksy hspqwl iv`c ie`k ivSyS swl iv`c BrqI hoey rogIAw dI aumr nUM drswauNdI hY            

aumr(swlW ivc̀) 5-15 15-25 25-35 35-45 45-55 55-65 

rogIAW dI sMiKAw 14 5 21 23 11 6 

Eprokq AMkiVAW dw bhulk pqw kro [          (2016) 
13. ividAwrQIAW dy ie`k smUh duAwrw ie`k muh`ly dy 20 pirvwrW au~pr kIqy gey srvyKx dy nqijy vjoN Al̀g Al`g pirvwrW 
dy mYNbrW dI sMiKAw nwl sMbMiDq hyT ilKy Anuswr AWkVy pRwpq hoey :- 
 
 
 
Eprokq AMkiVAW dw bhulk pqw kro [          (2017) 
14. ividAwrQIAW dy ie`k smUh duAwrw ie`k muh`ly dy 20 pirvwrW au~pr kIqy gey srvyKx dy nqijy vjoN Al̀g Al`g pirvwrW 
dy mYNbrW dI sMiKAw nwl sMbMiDq hyT ilKy Anuswr AWkVy pRwpq hoey :- 
 
 
 
Eprokq AMkiVAW dw bhulk pqw kro [          (2017) 
15. iksy jmwq dI AiDAwpkw ny pUry swl dOrwn AwpxI jmwq dy 40 ividAwrQIAW dI gYrhwzrI nUM hyT ilKy Anuswr irkwrf 
kIqw igAw [ ie`k ividAwrQI ijMny idn gYrhwizr irhw ausdw mD̀mwn pqw kro [     (2017) 
 
 
 
16. hyT id`qI hoeI vMf iksy  PYktrI dy 50 mzdurW dI rojwnW Awmdn drswauNdw hY [      

rojwnw Awmdn(rupieAW ivc̀) 50-60 60-70 70-80 80-90 90-100 

mzdurW dI sMiKAw 10 12 16 8 4 
auprokq vMf nUM ie`k Gt̀ pRkwr dI sMcvIN bwrMbwrqw vMf iv`c bdlo Aqy ausdw qorx iK~co [    (2017) 
17. hyT id`qI hoeI vMf iksy  PYktrI dy 50 mzdurW dI rojwnW Awmdn drswauNdw hY [      

rojwnw Awmdn(rupieAW ivc̀) 100-120 120-140 140-160 160-180 180-200 

mzdurW dI sMiKAw 12 14 8 6 10 
auprokq vMf nUM ie`k Gt̀ pRkwr dI sMcvIN bwrMbwrqw vMf iv`c bdlo Aqy ausdw qorx iK~co [    (2017,2018) 
18. hyTW id`qy AMkVy 225 ibjlI aupkrnW dy jIvnkwl ( GMitAW ivc̀) dI sUcnw idmdy hn       

jIvnkwl ( GMitAW ivc̀) 0-20 20-40 40-60 60-80 80-100 100-120 

bwrMbwrqw 10 35 52 61 38 29 

auprokq dw bhulk jIvnkwl pqw kro [          (2017) 
19. iksy gyNdbwj duAwrw 10 ikRkt mYcW iv`c ley gey ivktW dI sMiKAW hyT ilKy Anuswr hY  
 2   ,  6  ,   4   ,  5   , 0  ,  2  ,  1  ,  3  , 2  , 3    iehnW AMkiVAW dw bhulk pqw kro [        (2018) 
20. id`qI hoeI swrxI ivSv dy ku`J vDIAW b`lybwzw duAwrw ie`k rojw AMqrrwStrI ikRkt mYNcW ivc̀ bxweIAW dOVW nUM 
drswaudIN hY :-  iehnW AMkiVAW dw bhulk pqw kro [            
 
 
 
 
 
 

 
     (2018)   

        
     

 
 

pirvwr mwp 1-3 3-5 5-7 7-9 9-11 
pirvwr dI sMiKAw 7 8 2 2 1 

pirvwr mwp 4-7 7-10 10-13 13-16 16-19 
pirvwr dI sMiKAw 4 5 9 1 1 

idnW dI sMiKAw  0-6 6-10 10-14 14-20 20-28 28-38 38-40 
ividAwrQIAW dI sMiKAw 11 10 7 4 4 3 1 

bxweIAW geIAW dOVW b`lybwzW dI sMiKAW 
3000-4000 4 
4000-5000 18 
5000-6000 9 
6000-7000 7 
7000-8000 6 
8000-9000 3 
9000-10000 1 
10000-11000 1 



 
21. hyT id`qI vMf swrxI 35 sihrW dI swKrqw dr nUM drswauNdI hY [m`Dmwn swKrqw dr pqw kro [ 

swKrqw dr(% ivc̀) 45-55 55-65 65-75 75-85 85-95 
bwrMbwrqw 3 10 11 8 3 

22.iksy skUl dI dsvIN jmwq dIAW 51 lVkIAW dIAW aucweIAW  dw ie`k srvyKx kIqw igAw Aqy hyT ilKy AMkVy pRwpq kIqy 
gey :- 
 

 
 
 
 
 

iehnW AMkiVAW dI m`iDkw au~cweI pqw kro [ 
LESSON – 15 

1. ie`k f`byy ivc̀ 8 lwl bMty Aqy 4 ic`ty bMty Aqy 5 hry bMty hn [ ies f`byy ivc̀oN ie`k bMtw Acwnk k`iFAw igAw hY [ iesdI 
kI sMBwvnw hovygI ik  bMtw – (a) hrw hY ? (A) lwl hY ?  (e)  ic`tw nhIN hY ?         (2015) 
2. ie`k f`byy iv`c 4 lwl bMty Aqy 5 ic`ty bMty Aqy 8 hry bMty hn [ ies f`byy ivc̀oN ie`k bMtw Acwnk k`iFAw igAw hY [ iesdI 
kI sMBwvnw hovygI ik  bMtw – (a) ic`tw hY ? (A) hrw hY ?  (e)  lwl nhIN hY ?                    (2015) 
3. ie`k f`byy ivc̀ 5 lwl bMty Aqy 8 ic`ty bMty Aqy 4 hry bMty hn [ ies f`byy ivc̀oN ie`k bMtw Acwnk k`iFAw igAw hY [ iesdI 
kI sMBwvnw hovygI ik  bMtw – (a) lwl hY ? (A) ic`tw hY ?  (e)  hrw nhIN hY ?                     (2015) 
4. ie`k bc̀y kol Aijhw pwsw hY ijsdy &lkW au~qy  hyT ilKy A`Kr AMikq hn - 
                          

 
ie`k pwsy nUM ie`k vwr su`itAw jWdw hY [iesdI kI sMBwvnw hY ik (a) B pRwpq hovy  (A)  E pRwpq hovy [    (2016) 
5.  ie`k b`cy kol Aijhw pwsw hY ijsdy &lkW au~qy  hyT ilKy A`Kr AMikq hn - 
                          

 
ie`k pwsy nUM ie`k vwr su`itAw jWdw hY [iesdI kI sMBwvnw hY ik (a) E pRwpq hovy  (A)  C pRwpq hovy [    (2016) 
6.  ie`k bc̀y kol Aijhw pwsw hY ijsdy &lkW au~qy  hyT ilKy A`Kr AMikq hn - 
                          

 
ie`k pwsy nUM ie`k vwr su`itAw jWdw hY [iesdI kI sMBwvnw hY ik (a) B pRwpq hovy  (A)  D pRwpq hovy [    (2016) 
7. ie`k QYly iv`c 4 lwl Aqy 5 kwlIAW gydW hn [ ies QYly ivc̀oN ie`k gyNd Acwnk k`FI geI hY [ iesdI kI sMBwvnw hovygI 
ik  gyNd – (a) lwl hovy         (A)  lwl nhIN hovygI ?               (2017) 
8. 52 p`iqAW dI cMgI qrWH &YtI hoeI qwS dI  gu`tI iv`coN ie`k p`qw k`iFAw igAw hY [sMBwvnw pqw kro ik iKicAw p`qw [ 
(a) lwl rMg dw bwdSwh   (A) ie`k ie`t dI  bygm  hY [ (e) hukm dw p`qw    (2017,2019) 
9. 20 blbW dy smUh ivc̀ 4 blb Krwb hn [ ies smUh iv`coN ie`k blb Acwnk kìFAw jWdw hY [ Krwb blb dy Awaux dI 
sMBwvnw pqw kro [                  (2017) 
10. hyT iliKAW iv`coN ikhVI sMiKAw iksy Gtnw dI sMBwwvnw nhIN ho skdI ?           (2018) 

 (a)     
2

3
      (A)  −1.5  (e) 15%   (s)   0.7 

11.ie`k b`cy kol Aijhw pwsw hY ijsdy Cy &lkW au~qy  hyT ilKy A`Kr AMikq hn - 
                          

 
ie`k pwsy nUM ie`k vwr su`itAw jWdw hY [iesdI kI sMBwvnw hY ik (a) A pRwpq hovy  (A)  D pRwpq hovy [    (2018) 
12. Gtnw 𝐸 dI sMBwvnw + Gtnw 𝐸 nhIN dI sMBwvnw =…………………………     (2019) 

 

au~cweI (𝑐𝑚) iv`c lVkIAW dI sMiKAW 
140 qoN Gt̀ 4 
145 qoN G`t 11 
150 qoN G`t 29 
155 qoN Gt̀ 40 
160 qoN G`t 46 
165 qoN G`t 51 

D E C B A B 

D E C B A E 

D E C B A D 

A B C D E A 



 

Important Theorems 

not:- hr sY`t iv`c ie`k iQaUrm AwvygI Aqy iesdy 6 AMk hn [ 

Qylj iQaUrm jW mUl smwn Anupwqqw iQaUrm 
pirBwSw:- jykr iksy iqRBuj dI ie`k Bujw dy smWqr bwkI do BujwvW nUM iBMn – iBMn ibMdUAW ‘qy k`tdI hoeI iek̀ ryKw iK`cI jwvy 
qW bwkI do BujwvW iek̀ hI Anupwq iv`c vMfIAW jWdIAW hn [             

h`l :- ie`k iqRBuj 𝑨𝑩𝑪 , ijs iv`c Bujw  𝑩𝑪  dy smWqr iK`cI geI ie`k ryKw bwkI do BujwvW nUM 𝑨𝑩 Aqy 𝑨𝑪 nUM kRmvwr 

𝑫 Aqy 𝑬 au~qy kt̀dI hY [ 

is`D krnw:- 
𝑨𝑫

𝑫𝑩
 =  

𝑨𝑬

𝑬𝑪
         

rcnw:-  B Aqy E , C Aqy D nMU imlwieAw Aqy 𝑫𝑴 ⊥ 𝑨𝑪 Aqy 𝑬𝑵 ⊥ 𝑨𝑩 iK~icAw [ 

sbUq:-  iqRBuj  dw Kyqr&l =    
1

2
 × AwDwr × lMb 

ies leI 𝑎𝑟 ∆𝐴𝐷𝐸 =     
1

2
 × AD × EN         𝑎𝑟 ∆𝐵𝐷𝐸 =     

1

2
 × DB × EN    

                 𝑎𝑟 ∆𝐴𝐷𝐸 =     
1

2
 × AE × DM           𝑎𝑟 ∆𝐷𝐸𝐶 =     

1

2
 × EC × DM 

 

ies leI      𝑎𝑟  ∆𝐴𝐷𝐸 
𝑎𝑟  ∆𝐵𝐷𝐸 

=
1

2
 × AD  × EN

1

2
 × DB  × EN

=  
𝐴𝐷

𝐷𝐵
           ………………(1) 

Aqy   
𝑎𝑟  ∆𝐴𝐷𝐸 

𝑎𝑟  ∆𝐷𝐸𝐶 
=

1

2
 × AE  × DM

1

2
 × EC  × DM

=  
𝐴𝐸

𝐸𝐶
            ………………(2) 

∆𝑩𝑫𝑬 Aqy ∆𝑫𝑬𝑪 ie`k hI AwDwr 𝑫𝑬 Aqy smWqr ryKwvW 𝑩𝑪 Aqy 𝑫𝑬 dy ivckwr bxy do iqRBuj hn [ 

  ∴ 𝑎𝑟 ∆𝐵𝐷𝐸 =  𝑎𝑟 ∆𝐷𝐸𝐶           ………………(3) 
(1) , (2) Aqy (3) qoN                    

𝑨𝑫

𝑫𝑩
 =  

𝑨𝑬

𝑬𝑪
         

 

bnjmfgdn  

c`kr iQaUrm 
c`kr dy bwhrI ibMdU qoN ck̀r qy iK`cIAW SprS ryKwvW dIAW lMbweIAW brwbr huMdIAW hn [ 

 id`qw hY:-ie`k ck̀r id`qw hY ijsdw kyNdr  O hY [𝑃 ck̀r dw bwhrI ibMdU hY[𝑃𝑄 Aqy 𝑃𝑅 c`kr dIAW do SprS ryKwvW hn[ 

is`D krnw:- 𝑷𝑸  =   𝑷𝑹 

rcnw:-   O nUM P  , 𝑸   Aqy  R  nwl imlwE [ 
sbUq :- ArD ivAws Aqy sprS ryKw ivckwr bixAw  
          kox smkox(90°) huMdw hY [                                 
ies leI ∠𝑶𝑸𝑷 = 𝟗𝟎° Aqy ∠𝑶𝑹𝑷 = 𝟗𝟎°        …………(1) 
∆OQP  Aqy ∆ORP  ivc̀ 
        𝑂𝑄 = 𝑂𝑅                  ( c`kr dy ArD ivAws) 

        𝑂𝑃 =   𝑂𝑃                     (swJI Bujw) 

            ∠𝑂𝑄𝑃 = ∠𝑂𝑅𝑃 = 𝟗𝟎°            (smIkrx (1) qoN) 

   ∴   ∆OQP ≅  ∆ORP           (RHS srbMgsmqw) 

      𝑷𝑸  =   𝑷𝑹    (CPCT) 

 ies leI ck̀r dy bwhrI ibMdU qoN c`kr qy iK`cIAW SprS ryKwvW dIAW lMbweIAW brwbr huMdIAW hn [ 

 
 

 



 

pwieQwgors iQaUrm 
ie`k smkox iqRBuj ivc̀ krx dw vrg bwkI do BujwvW dy vrgW dy joV brwbr huMdw hY [ is`D kro [        
id`qw hY :- ∆ABC  iv`c ∠𝐵 = 90° 
is`D krnw:-  𝑨𝑪 𝟐 =  𝑨𝑩 𝟐 +  𝑩𝑪 𝟐             
rcnw:-  ibMdU 𝐵 qoN 𝑩𝑫 ⊥ 𝑨𝑪  iK~co [ 
sbUq :- jykr iksy smkox iqRBuj dy smkox vwly isKr qoN krx qy lMb iK`icAw jwvy qW ies 
lMb dy dovyN pwsy iqRBuj mUl iqRBuj dy smrUp huMdy hn Aqy Awps iv`c smrUp huMdy hn [  
ies leI           

 
 
 
 
 
 

(1) Aqy (2) nMU joVn qy    
    𝐴𝐵 2 +  𝐵𝐶 2 = 𝐴𝐷 × 𝐴𝐶 + 𝐶𝐷 × 𝐴𝐶        
     𝐴𝐵 2 +  𝐵𝐶 2 = (𝐴𝐷 + 𝐶𝐷) × 𝐴𝐶        
     𝐴𝐵 2 +  𝐵𝐶 2 = 𝐴𝐶 × 𝐴𝐶                 (ikauNik 𝐴𝐷 + 𝐶𝐷 = 𝐴𝐶) 
     𝐴𝐵 2 +  𝐵𝐶 2 =  AC 2 

pwieQwgors iQaUrm dw ault 
3. jykr iksy iqRBuj ivc̀ , ie`k Bujw dw vrg , dUsrIAW BujwvW dy vrgW dy joV brwbr hovy , qW pihlI Bujw dy swhmxy  vwlw 
kox smkox huMdw hY [ 

id`qw hY :- ∆ABC  ivc̀   𝑨𝑪 𝟐 =  𝑨𝑩 𝟐 +  𝑩𝑪 𝟐             

is`D krnw:- ∠𝑩 = 𝟗𝟎° 

rcnw:-  ie`k ∆PQR  dI rcnw krdy hW ijs iv`c ∠𝑸 = 𝟗𝟎° Aqy 𝑃𝑄 = 𝐴𝐵   , 𝑄𝑅 = 𝐵𝐶 
                                     A                                             P 
 
 
 
 
                    C                                B             R                              Q  

sbUq :- ∆ABC  iv`c  AC 2 =  AB 2 +  BC 2            ………(1)  (id`qw hY)                
         ∆PQR  iv`c  PR 2 =  PQ 2 +  QR 2              (pwieQwgors iQaUrm Anuswr ikauNik ∠𝑸 = 𝟗𝟎°) 
    PR 2 =  𝐴𝐵 2 +  𝐵𝐶 2             ……(2)     (∵ 𝑃𝑄 = 𝐴𝐵   , 𝑄𝑅 = 𝐵𝐶 ) 
 (1) Aqy (2) qoN       AC 2 =  PR 2    ⇒ 𝐴𝐶 = 𝑃𝑅     ………(3) 
hux  ∆ABC  Aqy ∆PQR  ivc̀ 
     𝐴𝐵 = 𝑃𝑄                     (rcnw qoN) 
           𝐵𝐶 = 𝑄𝑅        (rcnw qoN) 
 Aqy         𝐴𝐶 = 𝑃𝑅             (smIkrx (3) qoN) 
      ies leI            ∆ABC ≅  ∆PQR                                 (SSS srbMgsmqw) 
      ies leI                ∠𝑩   =   ∠𝑸                    (CPCT) 
                 ∠𝑩 = 𝟗𝟎°                 (ikauNik ∠𝑸 = 𝟗𝟎°) 
 
 
 
 

                ∆𝐴𝐷𝐵 ~ ∆𝐴𝐵𝐶   

          
 𝐴𝐷

𝐴𝐵
 =  

𝐴𝐵

𝐴𝐶
         

 𝐴𝐵 2 = 𝐴𝐷 × 𝐴𝐶        …………(1) 

∆𝐵𝐷𝐶 ~ ∆𝐴𝐵𝐶 

      𝐶𝐷
𝐵𝐶

 =  
𝐵𝐶

𝐴𝐶
         

 𝐵𝐶 2 =  𝐶𝐷 × 𝐴𝐶       ………(2) 



 
do smrUp iqRBujW dy Kyqr&lW dw Anupwq ieMnHW dIAW sMgq BujwvW dy Anupwq dy vrg dy brwbr huMdw hY [ 
h`l :- do iqRBuj 𝑨𝑩𝑪 Aqy 𝑷𝑸𝑹 ies qrWH hn ik ∆𝑨𝑩𝑪 ~ ∆𝑷𝑸𝑹 

is`D krnw:-   
𝒂𝒓(∆𝑨𝑩𝑪 )

𝒂𝒓(∆𝑷𝑸𝑹)
 =   

𝑨𝑩

𝑷𝑸
 
𝟐

=  
𝑩𝑪

𝑸𝑹
 
𝟐

=  
𝑪𝑨

𝑹𝑷
 
𝟐
             

rcnw:-  𝑨𝑴 ⊥ 𝑩𝑪 Aqy 𝑷𝑵 ⊥ 𝑸𝑹 iK~icAw [ 

sbUq:-  iqRBuj  dw Kyqr&l =    
1

2
 × AwDwr × lMb 

ies leI 𝑎𝑟 ∆𝐴𝐵𝐶 =     
1

2
 × BC × AM 

  Aqy  𝑎𝑟 ∆𝑃𝑄𝑅 =     
1

2
 × QR × PN 

 

 

∴    ar (∆ABC  )

ar (∆PQR )
=

1

2
 × BC  × AM

1

2
 × QR  × PN

=  
 BC  × AM

 QR  × PN
                         ………………(1) 

∆𝐴𝐵𝑀  Aqy ∆𝑃𝑄𝑁 ivc̀  
   ∠𝐵 =  ∠𝑄              ( id`qw hY ) 
   ∠𝑀 =  ∠𝑁              ( rcnw qoN ) 

∴            ∆𝐴𝐵𝑀 ~ ∆𝑃𝑄𝑁            (A A smrUpqw ksOtI) 

ies leI      𝐴𝑀
𝑃𝑁

  =  
𝐴𝐵

 𝑃𝑄
                       ………………(2) 

Aqy                  ∆𝐴𝐵𝐶 ~ ∆𝑃𝑄𝑅       ( id`qw hY ) 

∴      
𝐴𝐵

 𝑃𝑄
=

𝐵𝐶

𝑄𝑅
  =  

𝐶𝐴

𝑅𝑃
                                     ………………(3) 

(2) Aqy (3) qoN 

    
𝐴𝐵

 𝑃𝑄
=

𝐵𝐶

𝑄𝑅
  =  

𝐶𝐴

𝑅𝑃
=  

𝐴𝑀

𝑃𝑁
         ………………(4) 

(1) Aqy (4) qoN 

ar(∆ABC )

ar(∆PQR)
=

1
2 ×  BC ×  AM

1
2  ×  QR ×  PN

=  
 BC ×  AM

 QR ×  PN
=   

𝐵𝐶

𝑄𝑅
×
𝐵𝐶

𝑄𝑅
 =  

𝐵𝐶

𝑄𝑅
 

2

                     

iesy qrWH  
ar(∆ABC )

ar(∆PQR)
 =   

𝐴𝐵

 𝑃𝑄
 

2

=  
𝐵𝐶

𝑄𝑅
 

2

=  
𝐶𝐴

𝑅𝑃
 

2

 

 

 


